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(1) 5x2 Ual ... sl Uuel B.
( a) 5xy (b) -5xy (c) 5xy? (d)- 7x2y
(2) - 8x3y%z% UaA ........... (Qostcllat uel ®.
( a) - 8x3y?z* (b) - 10x3y?z* (c)—18 x3y?z* (d) - 8x*y?z3
(3) -12xy — (-8xy) =ueeeveeee.
(a) -4xy (b) —20xy (c) 20xy (d)4xy
(%) (a-3)(a-2) =...........
( a) a-5 (b)a’ —5a+6 (c)a®*=5a—6 (d) a? — 5a
(W) 9x2%-1 =............
(a) 3x — 1) (b) (9x — 1)? (c)(3x-1)(3x+1) (d) (3x-1)(3x-1)
Yl R o{lAcll elwcaRl. ()
(1) 4x2y2-4x2 y272 +z2 UElAACHL ¥ UEL ol Us2BIS BN,
() ab - bc, bc - ca, ca - ab Rl $3\..
(3) 12a—9ab + 5b — 3 Higll 4a — 7ab + 3b + 12 olle $3.
(¥) drttlotoll clote, usloue, GLaulletl MU WaoisA 5a, 3a2 Wal 7a* B. dell Ul culuste] Usisn
.
) 2x ol (3x + 5xy) JRUSIR s
ygt 3 oflAcll ELUEALDWEN. . (20)
(1) (9p - 5¢9)2 +180pq = (9p - 59)? Uolld 53
() 103 x 104 ofl (SHd Yatoll GUdal 531 L.
(3) 51x2 - 492 oll a%- b% = (a + b) (a - b) ollUHA GUAL 53la (EHd 2N
(%) (4m + 5n)% + (5m + 4n)? of AEIU WM.
() ( a + 3b) el (x +5) 2JRUSR S
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